ROOF DRAINS

GENERAL PRODUCT INFORMATION

Zurn Roof Drains are comprised of three basic components: a body (sump), a combination membrane flashing clamp/gravel guard, and a

dome strainer.

Two of Zurn’s most popular roof drains are the Z100-C-EA-R and the Z100-DP-EA pictured below. These illustrate the basic components and
several popular options: the adjustable extension (-EA), the roof sump receiver (-R), the underdeck clamp (-C), and the roof deck plate (-DP).

Dome
3/8-16 x 1-3/4 Bolt and Washer (4 Req’d.)

Flashing Clamp

Body

Standard Z100 Roof Drain Shown
SIDE OUTLET (SUFFIX -90)

—EA (Option) —

Z100-C-EA-R

o
(&

2
/ =t—" \
il

2)

/ Flashing Clamp

Dome

3/8-16 x 1 1/4 Bolt and Washer (4 Req'd.)
(Use pipe sealer on threads)

Adjustable Sleeve

0.2956 Dia. O-Ring

3/8-16 x 1 3/4 Bolt (4 Req'd.
3/8 White Teflon Washer (4 Req’d.)
Clarmp Ring with O-Ring Groove

Flot Gasket

Body

Roof Sump Receiver Suffix =R
(Recommended Option)

Underdeck Claomp Suffix —C
(Recommended Option)

90° outlet drains are available in 8", 12" and 15" diameters. See
the chart below for dimensions on each size.
DIMENSIONAL CHART (Dimensions in Inches/[mm])
A
Pipe Size B c D E H M ] X
15" Diameter Drain Body
251) | 12-1/2[318] | 15[381] | 5-1/2 [140] | 5-3/4 [146] | 7-1/2 [191]| 4-1/4 [108] | 4-1/2 [114]| 6-3/4 [171]
3[76] | 12-1/2[318] | 15[381] | 5-1/2 [140] | 5-3/4 [146] | 7-1/2[191]| 3-3/4[95] | 4-1/2 [114]| 6-3/4 [171]
47102 | 12-1/2[318] | 15[381] | 5-1/2[140] | 5-3/4 [146] | 7-1/2[191]| 3-1/4 [83] | 4-1/2 [114]{ 6-3/4 [171]
5[127) | 12-1/2[318] | 15[381] | 5-7/8 [149] | 7-7/8 [200] | 7-1/2 [191]| 4-3/4 [121]| 4-1/2 [114] | 6-3/4 [171]
6152 | 12-1/2[318] | 15[381] | 5-7/8[149] | 7-7/8 [200] | 7-1/2 [191]| 4-1/4 [108] | 4-1/2 [114]{ 6-3/4 [171]
12" Diameter Drain Body
2051] 10[254) | 12(305) | 4-3/4[121] | 5-3/4[146] | 6[152] | 4-1/8 [105]| 4-1/4[108]| 5-5/16 [135]
3[76] 10[254) | 12(305) |4-3/4[121] | 5-3/4[146] | 6[152] | 3-5/8[92] | 4-1/4[108]| 5-5/16 [135]
41102) | 10[254] | 12[305] | 4-3/4[121]) | 5-3/4 [146] | 6[152) | 3-1/8[79] | 4-1/4 [108]| 5-5/16[135]
5[27) | 10[254] | 12[305] | 4-3/4 [121] | 6-3/4[171] | 6-1/2 [165]| 3-5/8[92] | 4-1/4[108]| 5-5/16 [135]
8" Diameter Drain Body
251 | 7-12[191) | 8-1/4[210] | 3-1/2[89) | 6[152 |5-1/4[133]| 4-1/2 [114]| 4-1/4 [108] | 4-1/4 [108]
3[76) | 7-1/2[191) | 8-1/4[210] | 3-1/2[89] | 6[152 |5-1/4[133]| 4[102] | 4-1/4[108]| 4-1/4 [108]
47102 | 7-1/2[191) | 8-1/4[210] | 3-1/2[89] | 6152 |5-1/4[133]| 3-3/8 [86] | 4-1/4 [108]| 4-1/4 [108]
5[27) | 7-12[191) | 8-1/4[210] | 3-1/2[89] | 6-3/4 [174] | 5-1/4[133]| 3-5/8[92] | 4-1/4 [108]| 4-1/4 [108]
oC

—EA (Option) —

Z100-DP-EA

Dome

3/8-16 x 1 1/4 Bolt ond Wosher (4 Req'd.)
(Use pipe sealer on threads)

Flashing Clamp

Adjustable Sleeve

0.295 Dia. O-Ring

3/8-16 x 1 3/4 Bolt (4 Req‘d)
3/8 White Teflon Wosher (4 Req'd.)
Clamp Ring with O—Ring Groove

Flat Gasket

Body

Deck Plate

ZURN PLUMBING PRODUCTS GROUP SPECIFICATION DRAINAGE OPERATION, 1801 PITTSBURGH AVENUE, ERIE, PA 16502 PHONE 814/455-0921 FAX: 814/454-7929 WEBSITE: www.zurn.com

Page 9



